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QUESTION 1

An F5 LTM Specialist needs to perform an LTM device configuration backup prior to RMA swap. Which command
should be executed on the command line interface to create a backup?

A. bigpipe config save /var/tmp/backup.ucs
B. tmsh save /sys ucs /var/tmp/backup.ucs
C. tmsh save /sys config /var/tmp/backup.ucs

D. tmsh save /sys config ucs /var/tmp/backup.ucs

Correct Answer: B

QUESTION 2

An LTM Specialist needs to modify the logging level for tcpdump execution events. Checking the BigDB Key, the
following is currently configured:

sys db log.tcpdump.level {

value "Notice"

}

Which command should the LTM Specialist execute on the LTM device to change the logging level to informational?
A. tmsh set /sys db log.tcpdump.level value informational

B. tmsh set /sys db log.tcpdump.level status informational

C. tmsh modify /sys db log.tcpdump.level value informational

D. tmsh modify /sys db log.tcpdump.level status informational

Correct Answer: C

QUESTION 3

-- Exhibit
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Status
Diagnostics
Results & 3High (@) 1 Medium (1) 2 Low
Recommendation {3 Upgrade toversion: 11.2.0 or higher
Status +" Mo new potential issues identified since last update.
Errors
Extraction 4 Mo errors during QKY ew extraction.
Diagnostics 4 No errors during diagnhostics run.

-- Exhibit -Refer to the exhibit.

Which step should an LTM Specialist take next to finish upgrading to HD1.3?
A. Install image to HD1.3

B. Install hotfix to HD1.3

C. Activate HD1.3

D. Relicense HD1.3

Correct Answer: C

QUESTION 4

Which two subsystems could the LTM Specialist utilize to access an LTM device with lost management interface
connectivity? (Choose two.)

A. AOM
B. ILO
C. SCCP

D. ALOM

Correct Answer: AC

QUESTION 5

-- Exhibit
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100.49715 >

i0.

31.80.23.80: 5 T751670031:751670031(0)

win 8192 <m=ss 1460,nop,wWw3cale

IP 10.31.80.23.8C > 172.31.5.100.49715: 5 1684731463:1684731463(0) ack 751670032 win £192 <m==
8, nop, nop, sackOK>
IP 172.31.5.100.49715 > 10.31.80.23.80: . ack 1 win 16425
IP 172.31.5.100.49715 > 10.31.80.23.80: P 1:2498(248) ack 1 win 16425
IP 10.31.80.23.8C > 172.31.5.100.49715: P 1:344(3423) ack 249 win 256
TP 172.31.5.100.499715 > 10.31.80.23.80: . ack 344 win 168339
IP 172.31.5.100.49716 > 10.31.80.23.80: 5 3248492887:32484528397(0) win 8182 <mss 1460,nop,wscale
IP 10.31.80.23.8C > 172.31.5.100.459716: 5 1034885301:1034885901 (0) ack 3248492898 win 8192 <mss
8, nop, nop, sackOK>
IP 172,31.5.100.49716 > 10.31.80.23.80: . ack 1 win 16425
IP 172.31.5.100.499716 > 10.31.80.23.80: P 1:202(201) ack 1 win 16435
IP 10.31.80.23.8C > 172.31.5.100.49716: P 1:1406(1405) ack 202 win 236
IP 172.31.5.100.45716 > 10.31.80.23.80: R 202:202(0) ack 1406 win O

LTM DEVICE
172.31.5.100.49734 > 172.31.200.200.80: 5 3265616310:3265616310(0) win 8192 <mss 1460,nop,wscale 2, nop,nop, sackCK>
172.31.5.100.49735 > 172.31.200.200.80: 5 23040966925:2304966925(0) win 8192 <mss 1460,nop,wscale 2, nop,nop, sackCK>
172.31.5.100.49734 > 172.31.200.200.80: 5 3265616310:3265616310(0) win 8192 <mss 1460,nop,wscale 2,nop,nop, sackCK>
172.31.5.100.49735 > 172.31.200.200.80: 5 2304D966925:2304966925(0) win 8192 <mss 1460,nop,wscale 2,nop,nop, sackCK>
172.31.5.100.49734 > 172.31.200.200.80: 5 3265616310:3265616310(0) win 8192 <mss 1460,nop,nop, sackCE>
172.31.5.100. 49735 » 172.31.200.200_80: 5 23AN40ARG2E:23N40ARIZE(N) win 87182 «mas 1460, nnp,nop, sankOEs
172.31.5.100.49734 > 172.31.200,.200.80: 5 3265616310:3265616310(0) win 8192 <mss 1460,nop,wscale 2,nop,nop, SackCK>
172.31.5.100.49735 > 172.31.200.200.80: 5 23049665925:2304966925(0) win 8192 <mss 1460,nop,wscale 2,nop,nop,sackCE>
172.31.5.100.49734 > 172.31.200.200.80: 5 3265616310:3265616310(0) win 8192 <mss 1460,nop,wscale 2,nop,nop, sackCE>
172.31.5.100.49735 > 172.31.200.200.80: 5 23049665925:2304966925(0) win 8192 <mss 1460,nop,wscale 2,nop,nop,sackCE>
172.31.5.100.49734 > 172.31.200.200.80: 5 3265616310:3265616310(0) win 8192 <mss 1460,nop,nop, sackCE>
172.31.5.100.49735 > 172.31.200.200.80: 5 2304966925:2304966925(0) win 8192 <mss 1460,nop,nop, sackCE>

-- Exhibit -Refer to the exhibits.

Users are able to access the application when connecting directly to the web server but are unsuccessful when
connecting to the virtual server. Return traffic bypasses the LTM device using Layer 2 nPath routing.

Which configuration change resolves this problem?

A. Enable a SNAT pool on the LTM device.

B. Disable address translation on the LTM device.

C. Configure a route on the web server to the client subnet.

D. Configure the virtual server to listen on port 80 on the LTM device.

E. Configure the VIP address on the loopback interface of the web server.

Correct Answer: E
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